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General Instructions :
Read the following instructions very carefully and strictly follow them

(i)
(i)
(iii)
(iv)
W
G vi)

(vii)
(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections - A, B, C, D and E.

In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark

each.

In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each. ~ ,

In, Section C, Questtons no. 26 to 31 are short answer (SA) type questions,
carrying 3 marks each.

In Section D, Questtons no. 32 to 35 are long answer (LA) type questtons
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questzons carrying
4 marks each. Internal choice is provided in 2 marks questions in each
case-study. .

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions in Section E.

Draw neat diagrams wherever required. Take 1 = %g wherever required, if not
stated.
Use of calculators is not allowed.

SECTION A

This sectioncomprises multiple choice questions'(M CQs)of 1 mark each.

1.

430/2/1 ~ ' Page 3 L P.T.O.

How many terms are there in the A.P. given below ?

14,19, 24, 29, ....., 119
(a) 18 : W 14
() 22 " @ 21

In what ratio does x-axis divide the 11ne segment Jommg the points

A(2, - 3) and B(5, 6)?
(@ 2:3 )
© 3:4 G))




EgE
o8
3. 9sec?A-9tan® AT R :

Gr o8 gy g

| | 1
‘(c) 8 (d) 3

4. w7 % Ssf & T H 50mﬁa§%3ﬁw‘s%ﬁﬁrﬁ 60° T T S
3 1 20 = e TR, T i A S R

@ 505m ® P
© Em @ 258m

5. ¥ 0@ wh 99 W fig PA D weien pQ sk PR @i T § | g s d
, _amQRm@ﬁgT%'mﬁzQPRﬁw%,aﬁAQTRW%:

@ 500 b 130°
(c) 65° ’ (d 90°

6. fr=m R T ¥ 36 Firave %1 &t et v o (fft #) 8, R

o o .
, %9 ks
(a) 180)( nR (b) 360X2nR |
© -“«mrZ @ -2 xmR?

180 | 360
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9 sec2 A — 9 tanZ A is equal to :

@ 9 - ® 0
' 1
(c) 8 (@D 9

The strmg of a kite in air is 50 m long and it makes an angle of 60° with

“the horlzontal Assuming the string to be stralght the height of the kite

from the ground is :
(a) '50\/§m - (b) 'l\%qm
| (0) %_(31 m | (@ 25v3 m

From a point P, two tangents PQ and PR are drawn to a circle with
centre at O. T is a point on the major arc QR of the circle. If
Z QPR =50°, then £ QTR equals:

(a) 50° : (b)  130°
() 65° ‘ (d  90°

The area of a sector of angle o (in degrees) of a circle with radius R is :

o : o
%92 ——x 2nR
® 159%™ ®) 360%™
a 2 ' a 2
(C) 18()an (d) —3—6—6XTCR

430/2/1 ~amn Page 5 " - PTO.




7. af 360 3 64 %1 HCF 83, @ 37 il 1 LCM &
(a) 2480 ‘ (b 2780
(© 512 , @ 2880
8.  14cm 3T F T e Jo T T T St 88 om? ¥ | T X F
i TR w1 W B |
(@ 2em ®) 1lecm
(¢ 4cm ‘ ‘ (d T7cm

9. TS UTEl Sehl T | T WIsT S % T B 6 iR B

1 2
: ; 1 '
(C) ‘ 73‘ : | (d) -0

10. 3Ife feuma Tt 9X2+bx+%’=0és\1{awé,aﬁbwm@m:

(@ 0 : L (b) e -3
(¢) a3 . @ 3

11. T 3@ # ¢ fon aen o v 39 b= ‘cﬂﬁ@ arefiel T STemifE ® |
AR v 1 ST TEF YN % A F T &, A S FI A B :

-
(@) m3 L B %nr:g

©  3urd @ g-nr3
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1. If the HCF of 360 and 64 is 8, then their LCM is :

(a) 2480 (b 2780
(¢c) 512 (d) 2880
8. The curved surface area of a right circular cylinder of height 14 cm is
88 sz. The diameter of its circular base is :
(@ 2cm : ’ (b) 1lcm
© 4cm @ Tem
9. A die is rolled once. The probability that a composite number comes up,
is : , ; ‘
1 2
= b 2
(a) 5 ‘( ) ;
1 .
= d 0
(c) 3 (d)

10. If the quadratic equation 9x2 + bx + 21:- =0 has equal roots, then the

value of b is : ,
(a) O (b) -—3only
(c) 3 only , @ =3
11. A solid is of the form of a cone of radius r’ surinounted on a hemisphere

of the same radius. If the height of the cone is the same as the diameter
of its base, then the volume of the solid is :

(@) s | { '(b)/ =

(c) 3 | (d) —nr

430/2/1 ~a~~ Page 7 | _ PTO.
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12. 3T B, 9598 p(x) 1 AT foan w R | p(x)%ﬁg—aﬁa%éw%:

¥
L Ay
X e—y \ > X
yr'
(a) 2 (b) 3
¢ 4 d b5

13. ew gl x+2y-5=0 3R 23-4y+6=0 T IH :
(a) FETd R

(b) % Tl Afed 9 R

() e & afed @ @

@ demumIEd

14 FrefRes 3 4w e el s B R 7 9w 2

a 05 b) 5%
1 l 05
(C) — : (d) 'i‘Z

0-5

15. 25in230°+3tan260°— cos245° HIUH R :

@ 33 | ) —15—’
9 :
© 3 . @ 9
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13.

14.

15.

Graph of a polynomial p(x) is given in the figure. The number of zeroes of
px)is: | .

¥
X\*\ / \ > X
i y’
(a) 2 , ' b)) 3
(o) 4 ‘ (d) 5

The pair of linear equations x +2y— 5=0 and 2x—-4y+6=0:

(a) isinconsistent

(b) is consistent with many solutions

(¢c) is consistent with a unique solution

 (d) is consistent with two solutions

Which of the following numbers cannot be the probability of an event ?

(@) 05 (b) 5%
1 . 05
© oF (d) =

The value of 2 sin2 30° + 3 tan? 60° — c‘os2 45° is:

@ 343 ) -1-5-’-
5 ,
(C) ‘ Z | (d) 9

430/2/1 S Page 9 ; P.T.O.




E%E!
Eee
16. %@%my—xaﬁtx—4§mﬁaﬁai@TQquﬁﬁ®ﬁ% sﬁgPés

e & :

¥y
a y___x
. ,
x’'< 0 : >X
\ lx=4
y’
@ 40 . ® @9

1. @m%mmafnagmm 25@(21%13@:&%@&%@3@@

ST B :
@ 21 ®) 29
© 18 ’ W 2
18. 3Ife tanA= —% @ }___g_«)s__z__f}_ FHIHA D
1-sin” A

. % 4

| (a) 1 (b) oF

4 . B

(C) —5‘ | ; (d) Z
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16. The lines represented by the linear equations y = x and x = 4 intersect
at P. The coordinates of the point P are : '

y
o y=X
x'< g > X
\* ‘l‘x:.—.él-
yf
@ &0 (R
© 049 | (d) (4,9

17. Median and Mode of a dlstnbutlon are 25 and 21 respectively. Mean of
the data using empirical relationship is : '

(a) 27 (b)) 29

() 18 | ) 29

~ 3

V 2
18. If tanA= -z—,then the value of 1_—@8’2—é is :
5 1-sin® A

25 , | 4

(a) 4‘ (b) 5-5'

4 | B

© = @ 2
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g%g | . | S ' ]
go e 19 I 20 oTfweT T % Smeia ¥ 8 ¥ yE%m 3o w1 F o
?}/ﬁwﬁqw?’ﬁlﬁwwmwaw;y?ar}a%(mmwﬁ»m%ww
2 | 57 v & @) I A2 Ry 1T S (@), B), (0 (@ F g AW)

() iR (A) 3R @ (R) IF T8 § IR T (R), e (A) F @&l
| SIS AT B | |

B R (A) 3R T (R) A &, weg T (R), AR (A) TR
. e 7 R R |

© aﬁﬁmwaﬁé,mﬁm‘)m%x
(@ S (A) T ], 0 T (R) TR

19.  HFE (A : agqaﬁwﬁésﬁam%&w%f
- T [R): '1ﬁ'§qax2'+ax_(a¢0)'3§¥@?503ﬁia§l

20. 37797$21=7(A):, @qﬁaﬁl@wﬁsﬁm,mmm@ﬁﬁm
7% (R) : Q%m@f%mﬁmmé@r@z&jﬁ?ﬁ%l
TEw
57 @UE 7 oI F7g-I (VSA) FoR & 97 8, e Jed % 2 FHE |

21. & 7% 3 ¥, DE | Acaﬂt-g%:-g—g- | farg hifse f6 DC || AP.
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e | |
 Questions number 19 and 20 are Assertion and Reason based questions carrying
1 mark each. Two statements are given, one labelled as Assertion (A) and the
other is labelled as Reason (R). Select the correct answer to these questions from
the codes (@), (b), (c) and (d) as given below. |
(a)  Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A). '

. (b)  Both Assertion (A) and Reason (R) are true, bﬁt Reason (R) is not
' the correct explanation of the Assertion (A).

(c) Assertion (A)'is true, but Reason ‘(Ra) is false.
(@)  Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : Polynomial x2 + 4x has two real zeroes.

Reason (R):  Zeroes of the polynomial x2 +ax (a #0) are 0 and a.

20. Assertion (A): The probability of getting a prime number, when a die is

, . 2
thrown once, is 3

Reason (R): On the faces of a die, prime numbers are 2, 3, 5.

SECTION B
This section comprises very short answer (VSA) type questions of 2 marks each.

21. Inthe given figure, DE || AC and g—g— = —]g%— . Prove that DC || AP.

430/2/1 ~aman Page 13 | _P.T.O.
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22 (%) S THETE fafY w1 M i, TEed 540 3 630 %1 HCF
3 i |

SIW

’(ig) W%%ﬁ%ﬁmm n%fc‘m as" MOWWWT@‘T%
AT R |

23. (%) xw&mmwmm QR% c—rgrﬁgaﬁPQsﬁtRé;
| Tre=mms s (6, - 1), @, 3>afr¢<x8)%| e

- aroET

(@) qas%rga%sﬁﬁ(—z 0), (2,3 3 (1,-3) & nwa‘s’ﬁ‘ﬁaw
" w&a@mﬁwrg%? ‘ '

24. 'k’mmmeﬁﬁqma;%ﬂiqﬁ p(x)=3x2+2kg+x—k-5 % IIhI
‘ 1 ANTHS, SHeh O T TE R |

25. 3 T ¥ 1 mE B2 s T R, e H o A B
SR | WG W NS W TH Ue Agesdl Wepten S & | Febren o 96 T
STGTE B <l JTRreha ST SHifm | :
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22, (a) Find the HCF of the numbers 540 and 630, using prime

| factorization method.

OR

(b) Show that (15)" cannot end with the digit 0 for any natural

number ‘0.

23. (a) Find the value(s) of ¥’ so that PQ = QR, where the coordinates of P,
Qand R are (6, -1), (1? 3) and (x, 8) respectively.

OR

(b) The vertices of a triangle are (-2, 0), (2, 3) and (1, —3). Is the

triangle equilateral, isosceles or scalene ?

24. Find the value of ‘k’ such that the polynomlal p(x) = 3x2 + 2kx +x—-k-— 5

* has the sum of zeroes equal to half of their product.

25. From a Well—shufﬂed deck of 52 playing cards, all diamond cards are
removed. Now, a card is drawn from the remaining pack at random. Find the

probability that the selected card is a king.

430/2/1 e Page 15 P.T.O.




W@@#Wgsﬁﬁa(SA)W%ma I Ie8% 53 %8 |

26. & T R #, wEifed wm W S%he T ShIfSTY, et S Oenézhaéagﬁa
a?ﬁﬁﬁ?zrrqm 2cm3M5cemE | '

o1, %@ﬁﬁq%4+zf@m&ﬁaa@m% ﬁmw%ﬁs V3 T it
. e g | - '

(%) @ﬁ%WEW%CDW@%ﬁ%@QWWW‘%l
Torg $hifse f AB + CD = AD + BC. |

AT -
() firg Hiftme 5 et 0 3 ofom wwieR g, T wnEq e R |
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SECTION C
This section comprises short answer (SA) type questions of 3 marks each.

26. In the given figure, two concentric circles with centre O are shown. Radii
of the circles are 2 cm and 5 cm respectively. Find the area of the shaded

region.

97. Prove that 4 + 2J3 is an irrational number, given that \/§, is an

irrational number.

28. (a) A quadrilateral ABCD is drawn to circumscribe a circle, as shown
in the figure. Prove that AB + CD = AD + BC.

D C

OR

(b)  Prove that the parallelogram circumscribing a circle is a rhombus.

430/2/1 S~~~ . Pagel? P.T.O.
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29. (=) fug Shifvw.

1-cos6
1+cos6

2

= (cosec 6 — cot )

HIAT

(@) ﬁ'@’w:

(14- : )[u 1 ) :
tanZ A cotzA_ ’sinzA—-sinLlA

0. WEIE p(x)=2x?-T7x-15 % YIS TG T 3R 375 TN qo NSED
& 9 % Hey R wem St AR

31 fog #ifm & forg AC-1, 0), B3, 1), C(2, 2) 3R D(_2, 1) T Wi =g
| ABCD%?ﬂ'QQ%lW'ﬂ%’ﬂgﬁd@dﬂqd w32 |

RCRCEE

57 @vE F et 370 (LA) Yo & g & Fe 9% & 5 a7 &

32. (%) 60 m 39 W F Rt ¥ T W TF TR F Brew s o B
ST IV R 30° A 60° § | T ht S=S 71 BT | TR ik
w%aﬁaﬁ@%ﬁmaﬁmj(f:rmzmwm@

(@) il % T fig A Y, T W % AR W I 9w 30° 2 | e B
STTER ST 3R 30 m =F@H forg B 0% T6e T I-H H0 45° 2 S
%lwﬁﬁémaﬁﬁqaﬁtﬁgAém%mﬁmfﬁgﬁ%ﬁm
SN | (V3 = 1-732 %1 W= i) -
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29. (a2 Prove that :

}—“—CB—S—-Q- = (cosec 8 — cot 0)2
1+cosB ,
OR

(b)  Prove that:

(i)t
tanZ A ) cotZ A sin? A—sin? A

30. Find the zeroes. of the polynom1a1 p(x) = 2x2 — 7x — 15 and verlfy the

relatlonshlp between its coefﬁcmnts and zeroes.

31. Prove that the points A(-1, 03, B3, 1), C(2, 2) and D(-2, 1) are the

vertices of a parallelogram ABCD. Is it aléo a rectangle ?

SECTION D

This section comprises long answer (LA) type questions of 5 marks each.

32. (a) From the top of é building 60 m high, the angles of depression of
the top and bottom of a tower are observed to be 30° and 60°
respectively. Find the height of the tower. Also, find the distance

_ between the building and the tower. (Use /3 = 1:732)

OR

(b) The angle of elevation of the top of a bulldmg from a point A on the -
ground is 30°. On moving a distance of 30 m towards its base to the
point B, the angle of elevation changes to 45°. Find the height of
the building and the distance of its base from point A.
(Use +/3 = 1-732)
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33. ﬁrr%rﬁaa‘afﬁéwm@mﬁzmmmﬁm:

i | R B v
o0 |3
10-20 5

20 - 30 16
30-40 12
40-50 13
50-60 20
60-70 8
7080 5

34 R Tt B B wH & W o @ el W BB gl w
yfrese 0 R o Yo gt o, @ fag S R o= @ et wE @
i & Ry & T § | .
35. (%) R Rt AP, % R 7 a5 e - 14 39 TR 11 93 7 TR
— 5578, d 39 A.P. % Y8 ‘0’ Y81 HT AMTHSA T4 HIRT |
(@) Feft AP, o o e F1 AHA 302 + 0} | T AP, F I
wqﬁmmﬁmnm:,m15ﬁnamﬁmi
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33. Find the mean and the median of the following data : .

- e
0-10 3

10— 20 5
o 18

30 — 40 12

40 — 50 13

50 — 60 20

60-70 6

70 — 80 5

34, If a line is drawn parallel to one side of a triangle to intersect the other
two sides in distinct points, then prove that the other two sides are

divided in the same ratio.

35. () If the sum of the first 7 terms of an AP. is —14 and that of

11 terms is — 55, then find the sum of its first ‘n’ terms.

OR

(b) In an AP, the sum of the first ‘n’ terms is 3n2 + n. Find the first
term and the common difference of the A.P. Hence, find its

15th term.
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35 @UE 7 3 y*(U/W;WWW?WW‘%4 3% & |

« TEROT ST - 1 ,

36, T § e g gt i wnfel 95T G @ | W & T JAER 0w A
Rradh B ¢ m 2, § FA-EUE H G T §UE | T FA-EUE Sl by W 90°
T 0 AT T R, § A T % §9 o 5§, Tefh g gu-ars,
35 T 60° T HIT Al T ¥, F T T % T o g | [ ey

ﬂ%ﬁmw%%‘ﬁsﬁa@m(@ﬁq&-@@)mwmzwgaﬁrﬁ.

1
qu?ﬁ%aﬂwqt,ﬁm%ﬁaawﬁ%wﬁm: ,
@) oFl goEvEl % Skl % ATEHS B AT §A T H & FHH
RaT | |
Gi) ¢ 1 HE I HNT | ' |
Gi) () W TSI STl JO-EUS T EATHA T HINT |

HAAT
Gi) (@) W g o 99-8UE FT S A HINT |
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SECTION E
This section comprises 3 case study based questions of 4 marks each.
Case Study -1

36. Flower beds look beautiful growing in gardens. One such circular park of
radius ‘r’ m, has two segments with flowers. One segment which subtends
an angle of 90° at the centre is full of red roses, while the other segment
with central angle 60° is full of yellow coloured flowers. [See figure]

Yellow flowers |

&/ 22—> Red roses

It is given that the combined area of the two segments (of ﬂowers) is

2
256 — .
5 sam.

Based on the above, answer the following questions :

1) Write an equatmn representmg the total area of the two segments
in terms of ‘r

(i) Find the value of 7. ,
(iii)) (a) Find the area of the segment with red roses.
OR

(ili) (b) Find the area of the segment with yellow flowers.
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37.

TERRUT ST - 2

ﬁﬁﬁmﬁ@ﬂ%ﬁ@iﬂﬁw{f{m% | T TH IR TG B HA N
ww@ﬂ‘éﬁmﬂaﬁﬂmmw% 5 Sfet NA iR NB wRi@si
$i g HE F 8 | Wﬁwmﬁaﬁm,mﬁmgm%ﬁ?

S ANO =30°3T OA=5cm?B 1

,wﬂ?ﬁ% YR W, ﬁw%r@aaﬁ%maﬁq

(i) ANﬁarérrésrraaﬁﬁm

(ii) AAOmesrma?rﬁﬂ l

Gi) () @ﬁﬁNA,NBaﬁwﬂmABaﬁgmwéémaﬁml
3ot

G (@) :r%LANo 45° 8, ?ﬁﬂgﬁﬁOANB%mﬂ‘vfmﬁTﬁ@Ql
mmwaﬁ%mﬁml
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CaSe Study - 2

37. Circles pIay an important part in our life. When a circular object is hung
on the wall with a cord at nail N, the cords NA and NB work like

tangents. Observe the figure, given that £ ANO = 30° and OA = 5 cm.

‘Based on the above, answer the following questions :

&

(i)  Find the distance AN. | - 1

(i)  Find the measure of £ AOB. | ; - 1
Gii) (a) Find the total length of cords NA, NB and the chord AB. 2
| OR

(i) (b) If £ ANOis 45° then name the type of quadrilateral OANB.

Justify your answer. : 2

430/2/1 ama~  Page?2s ‘ P.TO.
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. ERTOT ST - 3
i T T orRel T Raein fo@mn T E | 14 em x 17 cm x 4 cm Tt =1
T TEINTHR A6 T EH @ | 39 S0 A W ayEERe % e 81 %
T Tq IR TES § | T JCTHR GES 6 $E 3 om 3R B
Zmn%l

‘mﬁfﬁ%aﬂwq{,ﬁmﬁﬁ@ﬁwﬁ%maﬁm
@) maaw@@waqﬁ%m@ﬁﬂémwmmﬁmu
Wﬁﬁﬁﬁﬁﬁﬁ%mmﬁmmmﬁﬁml
() W AR ded @t % T, e e § ah g
el S TR T IR | | - ‘
7T
(@) TR e % 0 ade o e I He b fo s e
ST T hIT |
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Case Study - 3

A wooden toy is shown in the picture. This is a cuboidal wooden block of
dimensions 14 ¢m x 17 cm x 4 cm. On its top there are seven cylindrical
hollows for bees to fit in. Each cylindrical hollow is of height 3 cm and

radius 2 cm.

Based on the above, answer the following queétions :

(1) Fihd the volume of wood carved out to make one cylindrical hollow.

 Find the lateral surface area of the cuboid to paint it with green

colour.

(a) Find the volume of wood in the reinaining cuboid after

~carving out seven cylindrical hollows.
" OR

Find the surface area of the top surface of the cuboid to be

painted yellow.
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